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< 12,500
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ORIZoIdEEZ 14,000
s 7,000
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< 5,500
AASMEA AHEHAN 2,167,250 3,200,250 A 1,033,000
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Os0HE HAXNG HEHA HZAY 1,344,000
s 1,220,000
< 124,000
SA HAXNS MBAHH HE=AS(=2D) 4,729,000 7,520,000 22,791,000
s 4,210,000
< 519,000
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T A =HEF FHl 292,000
odg=s 220t &AM 3,145,000
©3- =8t &2 &2 aAY 300,000
PN-Ea=—D 24,417,000 25,591,000 A 1,174,000
s 24,417,000
SSAENY HE(LEFIE FFXNY-7 HL=EZL 1,843,000 3,957,000 A 2,114,000
u=)(21)
s 1,843,000
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Ostety =&ZE22 =4 1,899,386
s 1,683,000
< 216,386




AN S22
M HY2IZH(SZI/2)
el =P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE2LZH(SZIE) 193,586 155,834 37,752
s 57,700
< 135,886
Jl=&l 78,186 40,434 37,752
2A2Y JI23tl 78,186 40,434 37,752
201 Let24dH] 35,386 26,034 9,352
01 At 2teltl 35,386 26,034 9,352
ORAM2Y AtR2eldl 35,386
202 O4dl 32,000 10,800 21,200
01 = LH 4 Hi 12,000 10,800 1,200
ORM2E =W 12,000
03 22 FR0HI 20,000 0 20,000
ORMEYE =20l 20,000
203 YR =&l 10,800 3,600 7,200
01 /122 =4 6,600 0 6,600
OESXNIYLH=ZEH 6,600
04 EASIYRFLH 4,200 3,600 600
©2521 Ol ot 4,200
ol 23| 115,400 115,400 0
s 57,700
< 57,700
NESEAHH 2SR (22) 115,400 115,400 0
s 57,700
< 57,700
101 @124l 115,400 115,400 0
s 57,700
< 57,700
02 JIEt A2+ 115,400 115,400 0
oglz2tol Mz 2 115,400
as 57,700
< 57,700




